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X=inv(A)*D
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X, +4x, —x;+x, =2

2x, +7x, + x, — 2x, =106

X, +4x, = x;+2x, =1

3x, —10x, —2x, + 5x, = -15

»A=[14-11;271-2;...
14-12;3-10-25];

» D=[2;16;1;-15];

» X=inv(A)*D
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xx=[1:0.2:25];

for k=1:25
Xx=xx(:,1:k)
y=x."2
plot(x,y'o")
axis([1,25,1,625]);
pause(2) ;

end
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h=input ('Enter the height:');
v0=input ('Enter the initial
velocity:"');
th=input ('Enter the angle with
the horizental:');
theta=th*pi/180;
ax=0;ay=-10;
v0x=v0*cos (theta) ; vOy=v0*sin(theta
) ;
t=[0:1:201];
vx=v0x;
vy=-10.*t+v0y;
x=v0x.*t;
y=-5*t . "2+v0y*t
v=sqrt (vx."2+vy."2);
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plot(x,y);
max_h=-5*% (v0y/10) "2+v0y* (v0y/10)
delt=v0y"2+20*h;
t_g=(vO0y+sqgrt(delt))/10;
max_x=v0x*t_g
axis ([0,max_x,-h,max_h]);
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Height=100

Initial velocity=100
Theta=45
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max_h =

250.0000

max_x =
1.0916e+003
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atoms_w=[16 12 1];
atoms_n=input ('Enter the number
of oxygen, carbon, hydrogen in
order:');
w:sum(atoms_w.*atoms_n);
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disp('Weight="),disp (w) ;
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f(x)=3x" +2x-1
g(x)=3x>+4
h(x)=3x-11
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m(x) = f(x)- g(x)
n(x) = g(x)/ h(x)
d(x) =3f(x) +2g(x) —4h(x)
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x=[-5:0.2:51;

f=3*x."2+2*x-1;

g=3*x."3+4;

h=3*x-11;

m=conv (f,g);

n=deconv (g, h) ;

d=3*f+2*g-4*h;
plot(x,f,x,g,x,h),title('3curves'
) s

Xlabel('x'),ylabel('f,g,h'),grid
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Jun.dat
m-file ¢ 5 e ala (b M gl ) S oY)

str=input ('Enter the month file
with the extention:');
mnth=load(str) ;

max_temp=max (mnth)

min_temp=min (mnth)
range_temp=max_temp—min_temp
mean_tempzmean(sum(mnth)/length(m
nth))

t=[1:length(mnth)];
plot(t,mnth,'o'),title('Temperatu
re distribution'), ...

xlabel (' Time/Day') ,ylabel (' Temper
ature/C');
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ceil

clc

clear

clf
contour
conv
cos
cumprod
cumsum

D

det

diag
disp

exit
exp
eye

fclose
find
finite
fix
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flipplr
flippud
floor
fopen
for

fprintf

fread
fwrite
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help
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img
input
interpl
inv
isempty
isnan

load

log
log10

max

mean
median
mesh
meshc
meshgrid
m-files
min
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path

plot

polar
poly
prod
quit

rand

randn
real
rem
reshape
rot90
round

save
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sin

sort
sqrt

std
subplot
sum
surf
switch

tan
tril
triu
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